, y O+ &4 =1 ‘R s
PRAE 108 SER .Tgﬁi TR A s

FXEEF.T ) ] p ¥ &

L.

1.

[\

B AT (45 4)

3 2
2
/ / 2%y dydr = —7
0o J1 _2
2 r3
/ / zsin(y) dyde = _2
o Jo

Find the volume of the solid bounded by the coordinate planes and the plane 3z + 2y + z = 6.

Ans: 6

4 b
Assume that / / flz,y) dA = / / f(z,y) dzdy, where D is the region bounded by the line
—2Ja
D

2
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y = = — 1 and the parabola y?> = 22 + 6. Then a = 4 5
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Find the 6th Taylor polynomial 7g(x) for sin(z) at a = g
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Find the 6¢h Taylor polynomial 74 (x) forIn(1+x)ata = 0. Ty(z) = 2 — — 4+ — — — + — —
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Find the 3th Taylor polynomial 75(z) for ata=0.T3(z)= 1— %
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Use the Midpoint Rule with m = 1 = 2 to estimate the value of the integral / / 3r—2ydA,

R
where R = {(z,y)|0 <2 <4,1 <y <5}

Find the volume of the solid that lies under the paraboloid z = 2 + y2 and above the region
D in the xy-plane bounded by the line y = 2z andy = 2.



. Evaluate / / 3x+4y dA, where R is the region in the upper-half plane bounded by the circles

R
2>+ 9> =land2? + 9% = 4.

. Use Polar coordinates to find the volume of the solid below 2 = /22 + 2 and above the
ring 1 < x2—|—y2 <4,

. For the double integral //€_y2 dA,where D = {(z,y)|0 <y < 1,0 <z < y}.
D

(a) Sketch the region of D. (b) Evaluate the value of the double integral.
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